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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these  

Sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Evaluate the impact of information technology on the 

administration of development societies.  

fodkl’khy lektksa ds iz’kklu ij lwpuk izkS|ksfxdh ds 

izHkkoksa dk ewY;kadu dhft,A  

2. Explain the factors responsible for growth and 

development of Comparative Public Administration.  

rqyukRed yksd iz’kklu ds fodkl ds fy, mŸkjnk;h dkjdksa 

dh O;k[;k dhft,A  

3. Explain in detail Max Weber‟s ideas on bureaucracy.  

ukSdj’kkgh ij eSDl oscj ds fopkjksa dh foLrkj ls O;k[;k 

dhft,A  

4. Explain the position of India in the information 

technology sector.  

lwpuk izkS|ksfxdh ds {ks= esa Hkkjr dh fLFkfr dks Li”V 

dhft,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. What are the features of the Indian Constitution ?  

Hkkjrh; lafo/kku dh D;k fo’ks”krk,¡ gSa \ 

2. Clarify the salient features of Comparative 

Administration.  

rqyukRed iz’kklu dh fo’ks”krkvksa dks Li”V dhft,A  

3. Explain the administrative nature of Nepal.  

usiky ds iz’kklfud Lo:i dh O;k[;k dhft,A  

4. Ombudsman.  

vksEcqM~leSuA  

5. Political context of developing societies.  

fodkl’khy lektksa dk jktuSfrd lUnHkZA  

6. The role of bureaucracy in the agricultural and rural 

development.  

d`f”k ,oa xzkeh.k fodkl eas ukSdj’kkgh dh HkwfedkA  

7. Social context of developing countries.  

fodkl’khy lektksa dk lkekftd lanHkZA  

8. Describe Swedish Ombudsman.  

LohfM’k yksdiky dk o.kZu dhft,A  
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following.  

fuEufyf[kr ds lkeus lR;@vlR; fyf[k,A  

1. The United States is a group of 100 states. 

la;qDr jkT; 100 jkT;ksa dk ,d lewg gSA  

2. The Indian Constitution came into force on January 26, 

1947.  

Hkkjrh; lafo/kku 26 tuojh] 1947 dks ykxw gqvkA  

3. India is a developed country.  

Hkkjr ,d fodflr ns’k gSA  

4. The salient characteristic of British Constitution is the 

Supremacy of Parliament. 

fczfV’k lafo/kku dh ewyHkwr fo’ks”krk gS] laln dh loksZPprkA  

5. Brownlo Committee was established in 1936. 

czkmuyks lfefr dk xBu 1936 esa gqvkA  
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6. Public Administration is directly related with the 

government.   

yksd iz’kklu dk lh/kk lEcU/k ljdkjksa ls gSA  

Answer in one word.  

,d ‘kCn esa mŸkj nhft,A  

7. In which year Bangladesh came into existence ?    

ckaXykns’k dk mn; fdl lu~ esa gqvk \ 

8. Hoower Commission was established in 1950.  

     (True/False) 

gwoj vk;ksx dk xBu 1950 esa fd;k x;kA ¼lR;@vlR;½ 

9. Where is the capital of United States of America ?  

la;qDr jkT; vesfjdk dh jkt/kkuh dgk¡ gS \ 

Choose the correct alternative. 

lgh fodYi pqfu,A 

10. Movement of Scientific Management was started by :  

(a) L. D. White  

(b) F. W. Taylor  

(c) Woodro Wilson  

(d) Mecridis  

oSKkfud izcU/k vkUnksyu dh ‘kq#vkr fdlus dh \ 

¼v½ ,y- Mh- OgkbV 

¼c½ ,Q- MCY;w- Vsyj  

¼l½ oqMjks foYlu 

¼n½ eSfØfMl 

PA–05  




